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ENGLISH VERSION

Instruction : As per the instruction of page no. 1.

1 (1) The data about wages paid in a factory are as follows : 2

Type Standard Actual

Skilled 200 hours at Rs. 2 | 210 hours at Rs. 2.20

Semi skilled [ 200 hours at Rs. 1.50 | 190 hours at Rs. 1.40

(2) Information relating to process H and N were as follows : 2

Process | Normal loss Input Production
(Percentage of (Litres) (Litres)
input)
8% 65,000 58,900
5% 37,500 35,700

Find out for each process abnormal loss or abnormal

gain.

(3) From the following information find out total 2

passenger kilometer per month.

Kilometers | 5 | 10 | 15 | 20 | 25

Passengers | 15,000| 8,500 | 7,000 | 5,000 | 4,000
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80% of the work on contract is completed on year

ended on 31 March 2015.

Contract Price .......cooooveeeeiiiiiieeieeieeeeeeenn. Rs. 5,00,000
Work certified 1S ....oouoeeiiiieeiiieeeeeeeeeeeee Rs. 3,50,000
Total annual expenses were ...................... Rs. 3,20,000

Find out cost of work not certified and pass necessary

journal entries for work in progress.

The following details are given for Job No. 555

Direct Materials........cocouueveeneeean... Rs. 20,000
Labour ....coooomeiieee e Rs. 10,000
Work expenses....................... 60% on labour
Other expenses .................. 10% of work cost

The tender price should includes 20% profit on cost
price. What should be the estimated selling price of
Job No. 555 ?

The following information regarding Job No. 155 is

taken from cost accounts of an engineering factory

Bhairav.

(1) Materials Rs. 10,000

(2) Labour
Department | Labour Labour per

Hours hour Rs.

A 60 10

B 50 20

C 40 30

D 30 40
10 [Contd...



(b)
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(3) The overhead expenses regarding above four

departments are estimated as under :

Department Variable Labour
Overheads Rs. Hours
A 50,000 10,000
B 40,000 8,000
C 30,000 6,000
D 25,000 5,000

(4) Fixed overheads Rs. 1,00,000 for 5000 general

working hours

Calculate total cost of Job No. 155.

From the following data relating to truck 'Ekta’,

compute cost per running mile.

Mileage run (annual) ..........ccccoeeeeiiiiiiiii 15000
Cost of trucK ..oooeeeeeieieee e Rs. 25,000
Road licence (annual) ................coooiiiiiiiiii . Rs. 750
Insurance (annual) ..............ooooiiiiiiiiiiiiiie, Rs. 700
Garage rent (annual).................ccccccviiieeeei, Rs. 600
Supervision and salaries (annual) ................. Rs. 1,200
Driver’s wages per hour ..........c.ccoooooiiiiiiiiiieeen... Rs. 3

11 [Contd...



Cost of fuel per Litre ......ccoooeiiiiiiieeeee . Rs. 3

Miles run per litre..........oooooiviiiiiiiiiiiiiiieeee, 20 miles
Repairs and maintenance per mile ........................ 1.65
Tyre allocation per mile............ccccevvvveiiiiiiniiiiiinnnn, 0.80

Estimated life of truck ...........

1,00,000 miles

Charge interest at 5% per annum on cost of truck.

The truck run 20 miles per hour.

OR
Following is the Trial Balance of Renuka Contractors Ltd. 14
as on 31.3.2015.
Particulars Debit Credit
Equity Share Capital - | 10,00,000
Debtors-Creditors 1,50,000 1,60,000
Land and Building (at cost) 11,60,000 -
Cash on hand 25,000 -
Cash received from Contractee
(being 80% of work certified) - | 25,60,000
12% Bank Loan (01.10.2014) - 80,000
Contractor A/c No. 101
Materials i1ssued 12,00,000 -
Machinery on 1.4.2014 (at cost) 2,00,000 -
Direct Labour 6,50,000 -
Indirect Labour 4,15,000 -
38,00,000 | 38,00,000
DA-2696] 12 [Contd...



The work on contract commenced on 1.4.2014. Contract
price was Rs. 40,00,000. Out of machinery sent on site,
25% machinery was of special nature. All the special machinery
and material costing Rs. 11,500 were burnt by fire on
30-6-2014. The insurance company admitted 80% amount of
claim for the loss on 31.3.2015, 20% ordinary machinery was
returned to stores stock of material amounted to Rs. 17,700
and the cost value of work uncertified was Rs. 2,80,000 unpaid
wages amounted Rs. 30,000 and prepaid indirect expenses
were of Rs. 15,000.

Depreciation is provided on machinery 12% and on land and

building at 10% per annum.

Prepare Contract No. 101 A/c, Profit and Loss Account and
Balance Sheet for the year 2014-15. Calculate profit on cash

basis.

Aruni Foundries Ltd. have three workshops and one

warehouse; details of cost and production for the year ending
on 31-12-2015 as follows :

Particulars Workshop | Workshop| Workshop

A B C
Raw material tonnes 200 150 140
Cost per tonne Rs. 155 90 60
Wages Rs. 75,000 40,000 20,000
Direct Expenses Rs. 12,500 14,500 4,000

Total weight
loss 1n process 4% 6% 10%
Sales of scrape

(per tonne Rs. 60) [ 42 tonnes| 35 tonnes| 66 tonnes

14
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2/3 production of workshop A and 1/2 production of workshop
B is transferred to another workshop. Remaining production
was transferred to warehouse for sales. Prepare workshop A,

B and C accounts.
OR
3 (@) Calculate from the following information. 7
@) Material price variance
(1) Material usage variance
(1) Material cost variance (cost variance)
(1) Purchase of materials 3000 units
(2) Cost of purchase of materials Rs. 9,000

(3) For production of one tonne standard quantity of

materials required 30 units
(4) Standard price Rs. 2.50 per unit
(5) Opening stock of materials Nil
6) Closing stock of materials 500 units
(7) Actual production for a period 8.0 tonnes.
(b) Data about a company regarding production labour 7

cost for March 2015 are as under :

(1) Total Direct Labour .............ccouvveennn..... Rs. 65,000
(2) Direct Standard Hours..........ccccceeeeiiiiiininnnnnn. 5,400
(3) Standard Labour rate per hour ................. Rs. 11
(4) Actual paid hours............ccooovvveeeeeiiinn. 5200
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Calculate :
(1) Labour Cost Variance
(2) Labour Rate Variance

(3) Labour Efficiency Variance

4  Write short notes : (any three) 12
(1) Objectives and features of operating cost
2) dJob Costing Method
(3) Escalation Clause
4) Certified work, uncertified work and work in progress
(5) Limitation of Standard Costing

(6) Process Wastage.
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